62 Mounting plate KKRCHER

Professional \ High pressure cleaner hotwater \ Electric motor \ 1400 SUPER * EUR \ Spare parts list 1400 SUPER \ Electric control box \ Mounting plate

Valid on 30.12.2019 Page1l/2



62 Mounting plate KKRCHER

Professional \ High pressure cleaner hotwater \ Electric motor \ 1400 SUPER * EUR \ Spare parts list 1400 SUPER \ Electric control box \ Mounting plate

POS Article no. Description Quantity Unit

22 4.828-007.0 Anti-interference filter complete 1.000 ST

18 6.647-250.0 Cable with rubber bushing 1.000 ST

11 5.030-954.0 Clamping part 1.000 ST

1 6.632-356.0 Contactor LC1-D18 B7 1.000 ST

20 4.622-018.0 Control transformer -nur fur Ersatz- 1.000 ST
Item textl:/1.962-920.0

20 6.622-241.0 Control transformer 400V 1.000 ST
Item textl: /1.962-918.0

15 7.304-386.0 Hexagonal head screw M 6x25-8.8-A2E ISO 1.000 ST

10 7.311-001.0 Hexagon nut M4 -6-A2E ISO 4032 2.000 ST

14 7.311-425.0 Hexagon nut M6 -04-A2E DIN 985 1.000 ST

16 4.622-033.0 Ignition transformer only for replacemen 1.000 ST
Item textl: /1.962-920.0

2 6.631-199.0 Motor protecting switch 1.000 ST
Item textl:/1.962-918.0

2 6.631-190.0 Motor protecting switch 1.000 ST
Item textl: /1.962-920.0

4 5.802-261.0 Mounting part 1.000 ST

12 5.801-115.0 Mounting plate 1.000 ST

5 4.651-026.0 Pilot lamp only for replacement 1.000 ST

9 6.641-270.0 Plug 1.000 ST

19 6.646-030.0 Plug CEE ,16A,5p,IP44 1.000 ST
Item textl:/1.962-918.0

21 4.633-058.0 Pulse generator only for replacement 1.000 ST

17 6.343-170.0 Retaining clip 1.000 ST
7.303-106.0 Screw 4x12 -10.9-R2R (IN6RD) 3.000 ST
6.303-031.0 Screw M8x16-ST-R2R DIN 7500-1 2.000 ST

16 2.883-468.0 Spare parts set ignition transformer 1.000 ST
Item textl: /1.962-918.0

23 5.115-734.0 Stop washer 1.000 ST

13 6.643-249.0 Strip terminal 1.000 ZST

6 6.685-949.0 Thermostat 1.000 ST

Valid on 30.12.2019 Page 2 /2


http://www.tcpdf.org

